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V1/2018/ Selection Post Examination (18th Jan 2019, Shift-I)

[Roll No. :

IRegistration No.

IName :

[Exam Venue : iON Digital Zone IDZ Greater Noida
[Exam Time : 10:00 AM - 11:00 AM

[Exam Date : 18/01/2019

Section : Matriculation Level

Q1 YWhere is Rumtek Monastery located in India?

Ans X 1. JTammu and Kashmir
v 2. Sikkim
#< 3. Himachal Pradesh
# 4 Arunachal Pradesh

Question ID : 5410784919
Status : Answered
Chosen Option: 4

Q.2 wn‘%maﬁr&ﬁwammﬁg,mﬁm,'Wﬁﬂ%mﬁré@f%sﬁﬁfr:ﬁ#qﬁﬁrﬁ%wars.'
after 78w & w7 B2

M o g
X2 W@
X3 7t
X 4 ey #

Question ID : 5410784862
Status : Answered
Chosen Option: 1

Q.3 There are four underlined sections in the following sentence. Select the one which is wrong.

For nearing a decade, the government authorities have been trving to improve the service facilities.
Ans X1 facilities
« 2. For nearing

/< 3. have been trving

/< 4. to improve

Question ID : 5410784874
Status : Answered
Chosen Option : 2

Q.4 In a certain code, NOON is written as 5665. How will SOLOS be written in that code?
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Ans  of 11063610
X 2 1064610
< 3 1066610
X 41065610

Question ID : 5410784853
Status : Answered
Chosen Option: 1

Q5 Find the value of 0.129129129.....
Ans 129
y P
X 99
- 129
/R—
X 100
129
1990
129
4 ——
v 999

Question ID : 5410784899
Status : Answered
Chosen Option: 4

Q.6 Choose the synonym for the underlined word in the sentence:

My mother is a candid woman who never hesitated to say exactly what was on her mind.

Ans  f 1 forthright
& 2 naive
< 3 reserved
< 4 rude

Question ID : 5410784881
Status : Answered
Chosen Option: 1

Q7 On which date is the National Science Day observed in India?
Ans X 1. 15 November

X 2 10™ November

X 3. 20t Ayoyst

v 4 28t February

Question ID : 5410784931
Status : Answered
Chosen Option: 1

Q.8
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What is the approximate length of the Ganga river?

Ans  of 1. 2500 km
Z 2 1800 km
< 3 3200 km
& 4 4100 km

Question ID : 5410784937
Status : Answered
Chosen Option: 1

Q9 FHg Fr A F 9F FT JeT TET &1 TET Nod H WS T FAT w9 §7
Ans v AT O

X 2 ATAY

X 3 Y

X4 oTr

Question ID : 5410784864
Status : Answered
Chosen Option: 1

061 Sadharan Brahmo Samaj was founded in Kolkata by
Ans %" 1. Atmaram Pandurang

75 2. M. G. Ranade
v 3. Anand Mohan Bose
X 4 N. M. Joshi

Question ID : 5410784942
Status : Answered
Chosen Option : 2

Q.1 Find the greatest possible length which can be used to measure 2 m,75 cm. and 8 m,65 cm
1

Ans 1. 35 cm

X 2 15¢cm
V'3 5cm
X 4 25cm
Question ID : 5410784901
Status : Answered
Chosen Option: 4
b was the court poet at the court of Alauddin Khilji.

Ans 3 1. Bismillah Khan
v 2. Amir Khusrow
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/< 3. Bhimsen Joshi
X 4 Ali Akbar Khan

Question ID : 5410784934
Status : Answered
Chosen Option : 2

Q.1 There are four underlined sections in the following sentence. Select the one which is wrong.

3

The first computer showed up around 1941, but it was little more limited in its capabilities than computers now.

Ans 1. showed up around

& 2 little more limited
/< 3. computers now

o 4 its capabilities

Question ID : 5410784873
Status : Answered
Chosen Option: 2

Q.1 In a certain code, ACQUIRE is written as ZXJFRIV. How will MANEGER be written in that code?
4

Ans 1. NZNVTVI
X 2 NZNVIVT
X 3. NZNVTIV
v 4 NZMVTVI

Question ID : 5410784845
Status : Answered
Chosen Option : 4

Q; Ankit purchased a printer for ¥15,600/- and sold at T17,160/-. What is his profit percentage?

Ans X1 17%
v 2 10%
< 3 8%
K4 27%

Question ID : 5410784907
Status : Answered
Chosen Option : 2

Q.1 Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
6 theodd one.

Ans  of 1. Sweden
& 2. Won
/< 3. Kyat
/< 4 Rial

[ Question ID : 5410784860 ]
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Status : Answered
Chosen Option : 1

°7'1 What would be the result for the following expression?

(5+5+5+5)=2
2+2+2x2+2

Ans X1 7/8
X28/7
X3 2
vl

Question ID : 5410784894
Status : Answered
Chosen Option : 4

Q; Select the option that will correctly replace the question mark (?) in the series.

12,11, 36, 7
Ans o 1. 85
X2 78
X 3 75
X 4 87

Question ID : 5410784859
Status : Answered
Chosen Option: 1

°9'1 Fill in the blanks with suitable words:

Racing a bike in public roads might lead to accident.
Ans X 1. Careless
v 2. Gruesome

/< 3. garrulous
/< 4. shocking

Question ID : 5410784882
Status : Answered
Chosen Option: 4

Q.2 Which one of the following options is the right form of the sentence which has been framed using the given parts:
0

next / at least / easy for / the doctor / the patient / take things / suggested that / two months

Ans x1,

The patient suggested that the doctor for at least next two months take things easy.

X 2
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The doctor suggested things that the patient take easy for at least next two months.

v &)

The doctor suggested that the patient take things easy for at least next two months.

F

The doctor suggested the patient that take things easy for next two months at least.

Question ID : 5410784876
Status : Answered
Chosen Option: 4

Qiz IfizgzE then find the ratio P: Q : R
15 21 7

Ans X1 7:21:93

X 2T 15

K393:21:7

v 15:21:7

Question ID : 5410784903
Status : Answered
Chosen Option: 4

Q.2 LetI = 0.715. When L is written as a fraction in the lowest terms, the denominator exceeds the numerator by:

2

Ans 1. 644
v 2 64
& 3900
K 4 744

Question ID : 5410784898
Status : Answered
Chosen Option: 3

%? Chandragupta Maurya occupied ___in 322 B.C.
Ans o 1. Patliputra

/< 2. Pavapuri

< 3. Vaishali

/< 4 Kushinagara

Question ID : 5410784941
Status : Answered
Chosen Option: 1

@2 What is the theme of the 2018 International Day of the Girl?
Ans X 1. 'A girl is a flower. not a thorn'

/< 2. Beti Bachao, Beti Padhao

/X 3. “Because I am a Girl”
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+ 4 With Her: A Skilled GirlForce

Question ID : 5410784925
Status : Answered
Chosen Option : 4

05;2 Find the least value of * for which the number 82178342*52 is divisible by 3

Ans of 1.2
x20
X3 1
X46

Question ID : 5410784914
Status : Answered
Chosen Option : 2

@2 The upper house of the Indian parliament is also known as:

Ans o 1. Rajva Sabha

< 2. Vidhan Sabha
/< 3. Lok Sabha
/< 4 Panchayat

Question ID : 5410784929
Status : Answered
Chosen Option: 3

Q.2 Find the compound interest (in T) on 23,000 for 2 years at 6% per antum, the interest being compounded half yearly.
7

Ans  of 1. 3,137.7/-
X 2. 3,150/-
X 3. 3,128.85/-
X 4.1,298.25/-

Question ID : 5410784906
Status : Answered
Chosen Option : 2

Qéz An action that cannot be changed is called as
Ans X 1. incorrigible

#< 2 incredible

v 3 irrevocable

& 4 inevitable

Question ID : 5410784890
Status : Answered
Chosen Option: 1
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Q.2 Teacher gave 20 problems as homework for Lata, She did all the even numbered questions that were divisible by 4 and
9 left out the rest, what fraction of question remained unanswered by Lata?

s o
X2
X3
v

dal b g = o= ] =

Question ID : 5410784916
Status : Answered
Chosen Option: 1

Q.3 F 5 3 g 5 K i .
o, The mobile application “Niryat Mitra™ was launched by .

Ans o 1. Suresh Prabhu
X 2 Amit Shah

# 3. Uma Bharti

/< 4. Sushma Swaraj

Question ID : 5410784940
Status : Answered
Chosen Option: 1

Q.3 IfLCM and HCF of the two numbers are given by 1105 and 5 respectively. One of the numbers is 65. Find the second
1 number.

Ans of 1. 85
X 2 81
<3 05
X472

Question ID : 5410784902
Status : Answered
Chosen Option : 1

Qé3 Amar purchased a bag for ¥600/- and sold it for T540/-. What is his loss percentage?

Ans 1. 5%
X 2 15%
V'3 10%
X 4 20%

Question ID : 5410784909
Status : Answered
Chosen Option: 3

Q.3 If “A’ is replaced by ‘+°, ‘B’ is replaced by ‘=, *C" is replaced by *+’ and ‘D’ is replaced by *x’, find the value of the
3 following expression.
17A19B2D24C8

@ Teachingninja.in



Ans ?(1- 60
X225
K 3 45
v 2 30

Question ID : 5410784856
Status : Answered
Chosen Option: 4

Q'3 . . - . w
a is the highest point in India.
Ans X 1. Mt. Everest

« 2. Mt. Kanchenjunga

75 3. Mt. Makalu
/5 4 Mt. Godwin Austen

Question ID : 5410784936
Status : Answered
Chosen Option: 4

Q.3 Choose the right option which has answers for the following blanks:

5
While travelling back home from her office trip, Anitha’s car suddenly . Though the interior of the car was not
cold, the trees in the barsh wind and the patches of yesterday’s snow still in the fields made her feel
inside.

Ans X 1. broke down, bending. crowded, worried
/< 2. went down, moving, scattered, scared
/< 3. put down, bending, scattered, worried

+ 4. broke down, bending, heaped, chilly

Question ID : 5410784885
Status : Answered
Chosen Option: 4

Q.3 Select the Answer Figure that is related to Problem Figure C in the same way as Problem Figure B is related to Problem

6  Figure A.
Problem Fig.
O| v ?
A B c D
Answer Fig.
= NI

1 2 3 4

>
2
X
r'q
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Question ID : 5410784861
Status : Answered
Chosen Option : 3

Q.3 . =
5 Identify the number exactly divisible by 12, 18, 72 and 256

Ans X 1. 4608
< 2 1502
v 3 2304
X 4 751

Question ID : 5410784900
Status : Answered
Chosen Option : 3

Q.3 Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose the

8 oddone.

Ans  of 1. MS WORD
K2 C++
X 3 JAVA
< 4 PYTHON

Question ID : 5410784843
Status : Answered
Chosen Option: 1

Q.3 Seven friends P, Q, R, S, T. U and V are watching a cricket match sitting in a stadium. P is sitting at one extreme end, T
Q s sitting second to the right of P and to the immediate left of UU. WV is sitting between Q and U. Q is sitting to the
immediate left of S. Who is sitting at the extreme right end?

Ans o1 g
X2p
X3 T
X4 R

Question ID : 5410784847
Status : Answered
Chosen Option : 1

Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statement
0 is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.
Statements: Some books are erasers.
All pens are erasers.

Conclusion I: Some erasers are books.
Conclusion IT: Some books are pens.

Ans o 1. Only conclusion I follows.
< 2. Only conclusion II follows.

/< 3. Both conclusions follow.

75 4. Neither conclusion I nor conclusion IT follows.

Question ID : 5410784854
Status : Answered
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l Chosen Option : 1 J

Q.4 The statements given below are followed by two conclusions labeled I and II. Assuming that the information in the
1 statement is true, even if it appears to be at variance with generally established facts, decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.
Statements: All guns are flowers.
All swords are flowers.

Conclusion I: Some swords are guns.
Conclusion IT: No sword is a gun.

Ans  of' 1 EBither conclusion I or conclusion IT follows.
/< 2. Both conclusions follow.
75 3. Only conclusion I follows.

/< 4. Only conclusion II follows.

Question ID : 5410784846
Status : Answered
Chosen Option : 1

Q.4 Complete the following sentence by choosing an option, which can be used to explain the characteristic of Mike based
2 on the first sentence.

Mike is listless and disinterested in anything these days. He must be

Ans X 1. annoyed

# 2 reluctant
< 3. happy
W 4 depressed

Question ID : 5410784889
Status : Answered
Chosen Option : 4

Q.4 ABill becomes an Act of Parliament after being passed by both the Houses of Parliament and assented by the of
3  India.

Ans X 1. Home Minister
# 2. Governor
v 3. President
# 4 Prime Minister

Question ID : 5410784920
Status : Answered
Chosen Option : 3

Q‘-“‘ Which day is marked as the ‘Rhino Day’ by the government of Assam?
Ans 1. 12 September
/< 2. 20 September
/< 3. 02 September
W 4 22 September

@ Teachingninja.in



Question ID : 5410784924
Status : Answered
Chosen Option: 1

94 What would be the missing term in the following series
3,17, 87, 437, 2187, ?

Ans  of 110937
X 2 10837
X 310933
< 410935

Question ID : 5410784855
Status : Answered
Chosen Option: 1

Qé4 What kind of music is sung in Goa during a wedding?
Ans o 1. Sohar

v 2 ovi

& 3. Suvari

/< 4 Khongjom

Question ID : 5410784927
Status : Answered
Chosen Option: 4

Q.4 Select the option that is related to the third term in the same way as the second term is related to the first term.

7 Radio : Listener : : Television : ?
Ans X 1. Seer

v 2. Viewer

X 3. Sofa

/< 4. Subscriber

Question ID : 5410784852
Status : Answered
Chosen Option : 2

Q.4 Inacertain code, ‘A + B’ means A is the father of B, ‘A - B* means A is the son of B, ‘A @ B’ means A is the daughter
8 ofBand ‘A =B’ means A is the mother of B.

IfP+ Q=R @ T, then how is P related to T?

Ans X 1. Son
#< 2. Husband
/< 3. Brother
v 4 Father-in-law

Question ID : 5410784848
Status : Answered
Chosen Option: 4
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Q.4 Arrange the five given words in the order in which they will appear in the English dictionary.
9

1. PUKE
2. PIKE

3. PEAK
4. POKE
5. PACK

Ans 1. 1,2,4.5.3
X2 12345
X3 53.24.1
v 4 53421

Question ID : 5410784863
Status : Answered
Chosen Option : 3

Q5 Evaluate the following expression.
(64x7)+(8+2)-6x8

Ans 2 1. 451

v 2 404

X 3 67

X 4. 208

Question ID : 5410784896
Status : Answered
Chosen Option : 2

Q.5 : ;
;. Select the wrongly spelt word.

Ans X 1. Detail
& 2. Detect
v 3. Detatch
/< 4 Destiny

Question ID : 5410784892
Status : Answered
Chosen Option : 3

Q.5 select the option that will correctly replace the question mark (?) in the series.
17,22, 30,41, ?

Ans X152
X2 54
< 3 53
v 55

Question ID : 5410784842
Status : Answered
Chosen Option : 4
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°3'5 Of the four sentences given below, choose the one which has no errors.

Ans 1. The grandur of the mansion impressed me a lot.

/< 2. I was very concious while talking on stage.

X 3

My consience would not allow me to take some one’s money for my use.

« 4 The court punished even the juvenile criminals.

Question ID : 5410784886
Status : Answered
Chosen Option : 2

Q.5 The rock cut cave temples at Ellora and Elephanta in modern day Maharashtra are a legacy of the rulers.

4
Ans 3 1. Pratiharas
& 2 Cholas
v 3. Rashtrakutas
< 4 Palas

Question ID : 5410784918
Status : Answered
Chosen Option : 2

Q.5 Mani had a pizza cut into 16 equal parts, if he ate 14 pieces and he gave two pieces to his friend, what fraction of the
5 pizza did his friend ate?

Ans ) 1
(1.5

2

?(2.1

3

X3.Z

1

‘X4-1

Question ID : 5410784915
Status : Answered
Chosen Option: 4

Qés Of the four sentences given below, choose the one which has no error.

Ans x1_

After the minister’s resignation, the House members were screaming for further action.
7% 2. The mechanic of the machine is not easy to understand.
X 3

The miscellaneous things ought to be thrown away from the house.
v

As a special offer for New Year, the government announced tax waver for its employees.

Question ID : 5410784887 ]

@ Teachingninja.in



Status : Answered
Chosen Option : 3

Qf Choose the antonym for the underlined word in the sentence:

He is very fastidious about his books and records.
Ans 1. vague
& 2. removed

/< 3. passionate

+ 4 Easy going

Question ID : 5410784878
Status : Answered
Chosen Option: 3

Q-5 gelect the option that will correctly replace the question mark (?) in the series.
33,45, 60,78, 7

Ans X 1. 97
< 2 95
v 3 99
< 4 98

Question ID : 5410784849
Status : Answered
Chosen Option: 3

°9'5 What would be the result for the following expression?
0.1257+0.2132 - 0.103

Ans X1, 0.2348
< 2. 0.2300
# 3 0.2360
v 2 0.2359

Question ID : 5410784897
Status : Answered
Chosen Option : 4

0_6 . L -
o Select the most appropriate antonym of the given word.

CONVINCING
Ans X 1. Decisive
< 2. Realistic
v 3 Doubtful
X 4 Credible
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Question ID : 5410784891
Status : Answered
Chosen Option : 2

%6 What would be the result of the following expression

(111+189F — (189 —111f
2x111=x189
Ans X 1. 78
< 2 300
v 2
X a4

Question ID : 5410784912
Status : Answered
Chosen Option: 3

Comprehension:

Read the given passage and answer the following questions.

Nature can be baffling, and how! In Loktak lake, you can stand on a
piece of land that floats on water. Go boating in the largest freshwater
lake in the Northeast and you will come across several floating swamps
which are heterogeneous masses of vegetation, soil and organic matter. In
the south-western part of the lake is located Keibul Lamjao National
Park, probably the world’s largest floating park, which was declared a
national park in 1977. If you are lucky, you might get a glimpse of the
reclusive Sangai here, the endangered brow-antlered deer, also the State
animal of Manipur. The Sangai is also called the dancing deer because
when it moves on the floating park. it appears to dance on the waters.
The construction of the Ithai Barrage for the Loktak Hydro Electric
Project has altered the ecology of the lake. Designated as the Ramsar
Wetland of International Importance, the lake is home to diverse flora
and fauna, such as several species of aquatic plants, birds, and animals,
including the Indian python. The lake is a lifeline for Manipur, especially
for its fishermen.

SubQuestion No : 62

Q.6 "w : J
, Lhe staterpent If you are l_uckj,?, vou might get a glimpse of
the reclusive Sangai" implies that:

Ans 3 1. luck helps the Sangai
7< 2. the Sangai is an unlucky animal
« 3 the Sangai is rarely seen

7< 4. luck helps tourists

Question ID : 5410784872
Status : Answered
Chosen Option : 3

Comprehension:
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Read the given passage and answer the following questions.

Nature can be baffling, and how! In Loktak lake, yvou can stand on a
piece of land that floats on water. Go boating in the largest freshwater
lake in the Northeast and you will come across several floating swamps
which are heterogeneous masses of vegetation, soil and organic matter. In
the south-western part of the lake is located Keibul Lamjao National
Park, probably the world’s largest floating park, which was declared a
national park in 1977. If you are lucky. you might get a glimpse of the
reclusive Sangai here. the endangered brow-antlered deer, also the State
animal of Manipur. The Sangai is also called the dancing deer because
when it moves on the floating park, it appears to dance on the waters.
The construction of the Ithai Barrage for the Loktak Hydro Electric
Project has altered the ecology of the lake. Designated as the Ramsar
‘Wetland of International Importance, the lake is home to diverse flora
and fauna, such as several species of aquatic plants, birds, and animals,
including the Indian python. The lake is a lifeline for Manipur, especially
for its fishermen.

SubQuestion No : 63

Qé" The author opens the article with the words "Nature can be
baffling. and how!" What is the tone used here?

Ans X 1. Tone of disgust

/< 2. Tone of confusion

/< 3. Tone of mockery

v 4 Tone of wonder

Question ID : 5410784871
Status : Answered
Chosen Option : 4

T —

Comprehension:

Read the given passage and answer the following questions.

Nature can be baffling, and how! In Loktak lake, you can stand on a
piece of land that floats on water. Go boating in the largest freshwater
lake in the Northeast and you will come across several floating swamps
which are heterogeneous masses of vegetation, soil and organic matter. In
the south-western part of the lake is located Keibul Lamjao National
Park, probably the world’s largest floating park, which was declared a
national park in 1977. If you are lucky. you might get a glimpse of the
reclusive Sangai here, the endangered brow-antlered deer, also the State
animal of Manipur. The Sangai is also called the dancing deer because
when it moves on the floating park, it appears to dance on the waters.
The construction of the Ithai Barrage for the Loktak Hydro Electric
Project has altered the ecology of the lake. Designated as the Ramsar
Wetland of International Importance, the lake is home to diverse flora
and fauna, such as several species of aquatic plants, birds, and animals,
including the Indian python. The lake is a lifeline for Manipur, especially
for its fishermen.

SubQuestion No : 64
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Qf Which event in the history of the region brought in
ecological changes in the lake?

Ans X1 Designation of the lake as the Ramsar Wetland of
~ International Importance

Construction of the Ithai Barrage for the Loktak Hydro

F 2.
v Electric Project

/< 3. Declaration of the floating park as a national park.

/< 4. Fishing in the Loktak lake by the fishermen of the state

Question ID : 5410784869
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage and answer the following questions.

Nature can be baffling, and how! In Loktak lake, you can stand on a

piece of land that floats on water. Go boating in the largest freshwater
lake in the Northeast and you will come across several floating swamps
which are heterogeneous masses of vegetation, soil and organic matter. In

the south-western part of the lake is located Keibul Lamjao National

Park, probably the world’s largest floating park, which was declared a
national park in 1977. If you are lucky. you might get a glimpse of the
reclusive Sangai here, the endangered brow-antlered deer, also the State
animal of Manipur. The Sangai is also called the dancing deer because

when it moves on the floating park, it appears to dance on the waters.
The construction of the Ithai Barrage for the Loktak Hydro Electric
Project has altered the ecology of the lake. Designated as the Ramsar

‘Wetland of International Importance, the lake is home to diverse flora
and fauna, such as several species of aquatic plants, birds, and animals,
including the Indian python. The lake is a lifeline for Manipur, especially

for its fishermen.
SubQuestion No : 65

056 Which of the following options best explains the meaning
of the word ‘reclusive’ as used in the passage?

Ans  of 1. Secluded
& 2 Inclusive
&/ 3. Exclusive
& 4 Sociable

Question ID : 5410784870
Status : Answered
Chosen Option : 3

Comprehension:
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Read the given passage and answer the following questions.

Nature can be baffling, and how! In Loktak lake, yvou can stand on a
piece of land that floats on water. Go boating in the largest freshwater
lake in the Northeast and you will come across several floating swamps
which are heterogeneous masses of vegetation, soil and organic matter. In
the south-western part of the lake is located Keibul Lamjao National
Park, probably the world’s largest floating park, which was declared a
national park in 1977. If you are lucky. you might get a glimpse of the
reclusive Sangai here. the endangered brow-antlered deer, also the State
animal of Manipur. The Sangai is also called the dancing deer because
when it moves on the floating park, it appears to dance on the waters.
The construction of the Ithai Barrage for the Loktak Hydro Electric
Project has altered the ecology of the lake. Designated as the Ramsar
‘Wetland of International Importance, the lake is home to diverse flora
and fauna, such as several species of aquatic plants, birds, and animals,
including the Indian python. The lake is a lifeline for Manipur, especially
for its fishermen.

SubQuestion No : 66

Qé" ‘What are the floating swamps, that the passage speaks

Ans

about, made up of?

/< 1. Soil, flora and fauna

« 2. Organic matter, vegetation and soil

/X 3. Vegetation. freshwater and floating park

/< 4. Aquatic plants, birds and animals

Question ID : 5410784868

Chosen Option : 2

Status : Answered

Q.6 Fill in the blanks with suitable words:

7

Ans

The young engineer was  of spreading discontent among young, innocent people and brainwashing them.
X 1. Tired
< 2. Ensured
& 3. Wearied
v 4 Accused

Question ID : 5410784883

Chosen Option : 4

Status : Answered

Q.6 The statement below is followed by conclusion labeled. Without resolving anything yourself, choose the conclusion

8

Ans

which appeals to you to be the most correct.
Statement: Ganga and Amba are cousins. Amba is daughter of Amresh.

Conclusion: Amresh is uncle of Ganga.

/< 1. False
/< 2. Can’t say

@ Teachingninja.in



v 5 True
/< 4. Probably true

Question ID : 5410784858
Status : Answered
Chosen Option: 3

Q.6 Six friends P, Q. R, S, T and U are sitting around a circular table facing the centre for group study. T is between Q and
9 S.Rissecond to the left of S and Q) is sifting directly opposite to P. Who is sitting fourth to the right of P?

Ans x1. T
X2 Q
X3 8
vaiu

Question ID : 5410784857
Status : Answered
Chosen Option: 3

067 The longest bridge in India is built over which of the following rivers?
Ans 1. Ganga

< 2 Godavari

X 3. Mahanadi

+ 4 Brahmaputra

Question ID : 5410784928
Status : Answered
Chosen Option : 3

Q‘i7 Choose the right option in which the words are rightly matched with their synonyms.

L. petulant a. attractive
2. beautiful b. naughty
3. weary ¢. rde

4. mischievous d. tired
Ans X" 1. 1-d, 2-a, 3-b, 4-c
< 2. 1-b, 2-d, 3-c, 4-a
X 3. 1-c, 2-a, 3-b, 4-d
W 4 1-c, 2-a, 3-d, 4-b

Question ID : 5410784879
Status : Answered
Chosen Option : 4

Q; Kishangarh, a city in the state of . has come to be known as the marble city of India.

Ans
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/< 1. Madhya Pradesh
# 2 Uttar Pradesh
/< 3. Haryana

+ 4 Rajasthan

Question ID : 5410784938
Status : Answered
Chosen Option : 4

Qé7 Fill in the blanks with suitable words:

After watching the world cup win, all youngsters are __ with cricket.
Ans of 1. Obsessed
# 2 Inebriated
2 s angry
< 4 happy

Question ID : 5410784884
Status : Answered
Chosen Option: 4

@7 Who was the founder of Mughal dynasty?
Ans 5 1. Shahjahan
/< 2. Aurangzeb

/< 3. Akbar
v 4 Babur

Question ID : 5410784935
Status : Answered
Chosen Option: 4

Q7 a physician gives 2/3™ of tablet 1 and 1/4™ of another tablet 2 to be taken twice a day for 3 consecutive days. After the
5 ond day how many parts of tablets of 1 and 2 the patient would have taken?

Ans 75 1. tablet 1 : one whole tablet and tablet 2: 2 % parts

75 2. tablet 1: 1; parts and tablet 2 : one whole tablet

/< 3. tablet 1 : one whole tablet and tablet 2: l% parts

W 4 tablet 1: 2 % parts and tablet 2 : one whole tablet

Question ID : 5410784917
Status : Not Answered
Chosen Option : --

@7 How many states are there in the Indian federation?

@ Teachingninja.in



ans of 1. 29
< 2 30
X3 28
X 4 26

Question ID : 5410784930
Status : Answered
Chosen Option: 1

@7 Who is known as the ‘queen of track and field” of India?

Ans o 1. PT Usha
< 2 Sania Mirza
/< 3. Mithali Raj
/< 4 Jyotirmoyee Sikdar

Question ID : 5410784922
Status : Answered
Chosen Option : 1

°é7 Choose the synonym for the underlined word in the sentence:

The child howled in agony.
Ans X 1. Whispered
X 2 stuttered

/< 3. sobbed
v 4 wailed

Question ID : 5410784880
Status : Answered
Chosen Option: 3

°9'7 What would be the result of the following expression
832x832x832+168 x168 x 168
B32x832-832x168+168 =168

Ans X 1. 664
v 2. 1000
X3 1
X a4

Question ID : 5410784913
Status : Answered
Chosen Option : 2

068 4% WA a1 O 2T ¥ 2 a¥ F 2108/- #r a7 ¥ (T H) 1 9= T Fww &7
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Ans 1. 98.6
X2 975
X3 98
v 4100

Question ID : 5410784905
Status : Answered
Chosen Option : 4

Q.8 Arrange the five given words in the order in which they will appear in the English dictionary.
1

1L.WIRE
2. SIRE
3. FIRE
4. MIRE
5. DIRE

Ans o 1. 53,4,2.1
X 2 1,23.4.5
X3 54321
X4 12453

Question ID : 5410784844
Status : Answered
Chosen Option : 1

Qés Due to which scientific phenomenon a stick, if immersed in water, appears to be bent?

Ans 1. Dispersion

« 2. Refraction
/< 3. Scattering
< 4 Reflection

Question ID : 5410784932
Status : Answered
Chosen Option : 2

Qés Find the volume of a hemisphere with the radius of 3 cm

A o1 56.55 cmd

X 2 226224 em®

X 3.14.139 cm?

X4 113112 e’

Question ID : 5410784911
Status : Answered
Chosen Option: 1

Q.8
4
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Evaluate X in the following expression.
X R R 1Y
Ans x1_ 10
X2 1
v 3 110
X411

Question ID : 5410784904
Status : Answered
Chosen Option : 3

98 Approximately how many cells are there in a human body?

Ans 1. 37 lakh
X 2. 37 billion
v 3 37 trillion
X 4. 37 million

Question ID : 5410784933
Status : Answered
Chosen Option : 2

Q8 Evaluate the following expression.
24+6)x4+7x5-6

Ans X 1. 31

X2 42

V'3 45

X4 8

Question ID : 5410784895
Status : Answered
Chosen Option : 3

Q.8 An Aadhaar card is a digit unique number that acts as a proof of identity for Indian citizens.
7

Ans of 112
X215
<310
X 4 14

Question ID : 5410784923
Status : Answered
Chosen Option : 4

Q.8 Amar bought a TV for 16 500/- and sold it at 20% profit. What is his Selling Price (in %)?
8

Ans X" 1. 19,200/-
< 2. 19,600/-

@ Teachingninja.in



2 3. 20,800/-

W 4 19.800/-
Question ID : 5410784908
Status : Answered
Chosen Option : 4
s is the folk dance of Punjab.
Ans o 1. Bhangra
X 2. Garba
& 3. Kathak
< 4 Baul

Question ID : 5410784926
Status : Answered
Chosen Option: 1

Q.9 Manas rode his cycle 5 km towards South, then he took a left turn and cycled 12 km, then he took a left and cyeled 10
0 km more. Now which direction is he facing?

Ans 2 1. South
X 2. East
v 3. North
< 4 South-east

Question ID : 5410784851
Status : Answered
Chosen Option: 3

°1'9 What would be the wrong letter in the following series?

GELLORVX A
Ans XT A
vV
X3l
K40

Question ID : 5410784866
Status : Answered
Chosen Option : 2

Q9 Ashoka changed his attitude towards war after the battle of :
Ans o 1. Kalinga

< 2. Khanwa

# 3. Buxar

/< 4 Kalinjar
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Question ID : 5410784921
Status : Answered
Chosen Option: 1

Q.9
3 Divide % 426 in the ratio of 3%: 2%

Ans & 1.%172,% 254
W2 %234, %192
X3 %192, 3234
X4 %254,3172

Question ID : 5410784893
Status : Answered
Chosen Option : 2

Q.9 P : X
4 Choose the appropriate idiom for the following context:

It was raining
Ans 5 1. Pigs and dogs
+ 2. Cats and dogs
/< 3. Cats and pigs
< 4 Birds and cats

Question ID : 5410784888
Status : Answered
Chosen Option : 2

Q.9 Replace the underlined word / phrases with one of the options which has similar meaning
5

The President was killed by the terrorists in a planned attack.
Ans & 1. Was stabbed
v 2. Was assassinated
/< 3. Was slaughtered

/< 4 Was murdered

Question ID : 5410784875
Status : Answered
Chosen Option: 4

069 Choose the antonym for the underlined word in the sentence:

Ram was a kind and generous employer.
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Ans 3 1. unmannerly
/X 2. gruesome
V'3 cruel
/< 4 Benign

Question ID : 5410784877
Status : Answered
Chosen Option : 2

@9 Express the speed of 18 m/s in km/h.

Ans x1' 5
X 2324
V'3 64.8
X 4.129.16

Question ID : 5410784910
Status : Answered
Chosen Option : 3

Q.9 The Indian author to win the 2018 Hindu Playwright Award is
Ans  of 1. Annie Zaidi

< 2. Kiran Desai

& 3 Vikram Seth

< 4 Sunita

Question ID : 5410784939
Status : Answered
Chosen Option: 3

Q.9 Priya is facing north. She turns 90° right, then she turns 180" left. then she turns 270° right. Now which direction is she

9 facing?

Ans X 1. East
v 2 South
/< 3. North

75 4 North-west

Question ID : 5410784850
Status : Answered
Chosen Option: 3

Q.1 Read the following paragraph carefully and answer the question given.
00
In a zoological park, 5 animals were placed in cages in a row.

The cage of “Tiger’ is to the left of ‘Lion’ and to the right of ‘Cheetah’. The cage of ‘Python’ is to the right of “Lion’.
The cage of “Puma’ is between ‘Lion’ and ‘Python’.

Which animal is immediate Left to *Python™?

Ans
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+ 1. Puma
/< 2. Tiger
#< 3. Cheetah
X 4 Lion

Question ID : 5410784865
Status : Answered
Chosen Option: 1

@ Teachingninja.in





